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QUESTION: 114 
What are the three valid values for the process level Advanced Property "Case Description On 
Start"? (Choose three.) 
 
 
A. In/Out  
B. Default  
C. Hidden 
D. Optional  
E. Required  
F. Mandatory 
 
 
Answer: C, D, E 
 
 
QUESTION: 115 
What are three valid parameter modes? (Choose three.) 
 
 
A. In 
B. Out 
C. Input  
D. In/Out  
E. Output 
F. Inbound 
G. Outbound 
H. Input/Output 
I. Inbound/Outbound 
 
 
Answer: A, B, D 
 
 
QUESTION: 116 
Which two methods can be used to create custom process fragments? (Choose two.) 
 
 
A. use the Create Fragments Wizard 
B. hold down the Control key and drag the fragment to the Fragments tab 
C. select the Create Fragment menu option after selecting the desired steps 
D. select the desired fragment, and select the Create Fragment menu option 
E. select the desired steps from a process and press Copy and Paste in the Fragments tab 
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Answer: B, E 
 
 
QUESTION: 117 
You have a User Task in your business process called ReviewApp. You want to deliver this task 
to a TIBCO iProcess Engine group queue called REVIEWTEAM. Which three steps should you 
take to deliver the ReviewApp User Task to the REVIEWTEAM queue? (Choose three.) 
 
 
A. create a participant of type HUMAN called REVIEWTEAM  
B. assign REVIEWTEAM participant toReviewApp User Task 
C. check the "Is Group Queue" option on the Participant Property tab 
D. check the "Offer To Group" option on the User Task's Resource tab 
E. create a participant of type ORGANIZATIONAL_UNIT calledReviewApp 
F. create a group queue called REVIEWTEAM usingiProcess Administrator 
G. create a SYSTEM participant called REVIEWTEAM and map this to the User Task's Group 
field 
 
 
Answer: A, B, F 
 
 
QUESTION: 118 
Click the Exhibit button. 

 
 
Continue Task On Timeout is set for TMR, and the timeout is set to a constant period of two 
hours. STEP1 is released. Which two statements are true when TMR times out? (Choose two.) 
 
 
A. TMR timeout is reset.  
B. RXTASK is withdrawn. 
C. RXTASK remains outstanding.  
D. STEP2 is processed to a queue.  
E. STEP3 is processed to a queue. 
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Answer: C, E 
 
 
QUESTION: 119 
Click the Exhibit button. 

 
 
The participant of STEP2 is USER2. The participant of STEP3 is USER3. The participant of 
STEP4 is USER4. On the form of STEP1, the user enters a value of TRUE for the Boolean Case 
Data field IsCustomerOK and releases the work item. What happens next? 
 
 
A. STEP4 is delivered to USER4. 
B. STEP3 is delivered to USER3 only.  
C. STEP2 is delivered to USER2 only. 
D. STEP2 is delivered to USER2, and STEP3 is delivered to USER3. 
 
 
Answer: D 
 
 
QUESTION: 120 
Given the following script: TempDate.Date=IPEDateTimeUtil.CALCDATE("2/2/2008",0,0,1,0); 
Assuming the international date format of dd/mm/yyyy applies, what would TempDate.Date 
evaluate to? 
 
 
A. 2/2/2009 
B. 3/2/2008 
C. 2/3/2008 
D. 10/2/2008 
 
 
Answer: C 
 
 
QUESTION: 121 
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Which two tasks can have Audit Initiated and Audit Completed scripts configured and executed 
in the TIBCO iProcess Engine? (Choose two.) 
 
 
A. User Tasks 
B. Script Tasks  
C. Manual Tasks  
D. Service Tasks 
E. Reference Tasks 
 
 
Answer: B, D 
 
 
QUESTION: 122 
Your process destination is set to the TIBCO iProcess Engine. For which two tasks are Audit 
Scripts valid? (Choose two.) 
 
 
A. User Task  
B. Send Task  
C. Script Task 
D. Service Task 
E. Receive Task 
 
 
Answer: C, D 
 
 
QUESTION: 123 
What does a Button Type of "primary" do to a button on a TIBCO Business Studio Form? 
(Choose two.) 
 
 
A. gives the button a dark single-pixel border 
B. associates the button with another control on the form 
C. makes the button only able to be invoked by mouse click 
D. makes the Enter key invoke the button, as well as by mouse click 
 
 
Answer: B, C 
 
 
QUESTION: 124 
Click the Exhibit button. 
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What are two uses for the Receive Task? 
 
 
A. updating case data and continuing to STEP2 
B. pausing the process until an external event occurs 
C. starting a sub-process on receipt of an external event 
D. waiting a defined period of time, after which continuing to STEP2 
 
 
Answer: A, B 
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